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INSTRUCTIONS TO CANDIDATES
1. This paper has two sections: A and B.
1. Answer all the questions in section A. 
1. Answer question 6 and any other two questions from Section B. 
1. Each question in section B must be answered in separate foolscaps.















SEACTION A
1. a)   What is agro-forestry?							2mks
This is a collective term used to cover a variety of land uses that combine tree growing,   pasture and crop production practices on the same piece of land for  the purpose of increasing or improving the output of the soil.
			
							(1x2marks)
b) State three problems hindering the exploitation of tropical hardwood forests									3mks
-There  is  a wide variety of tree  species in a  given  area. This makes exploitation of Valuable species difficult						
- The valuable trees are scattered not in pure  stands, this   makes exploitation difficult  and  expensive.
- The buttress roots make the falling cumbersome
- The dense undergrowth/thick forest of quick generation of plants hinder accessibility
- The forests form a habitat for dangerous could animals which make the exploitation   insecure
- Inadequate capital limits the use of modern techniques in the exploitation of forests
							(3x1marks)
2. a)Name two exotic breeds of dairy cattle kept in Kenya		2mks
Friesians
Aryshires
Jerseys
Guernsey							(2x1marks)
b) Give  three measures that  the government of Kenya has undertaken to improve dairy farming in Kenya 			3mks
-Setting up demonstration farms 
-The government has constructed roads and improved the the available ones to make services accessible to famers and dairy products to the market
-Encouraging farmers to set up cooperative societies to assist in marketing of dairy products
-Investing in the dairy research industry to get high breed of dairy cows
-Provision of extension services programs  (3x1marks)
3. a) Name two non-metallic minerals 					2mks
-Coal
-Diamond
-Flouspar
-Silicon
-Graphite						(2x1marks)
b) State three factors influencing occurrence of minerals 		3mks
-Evaporation of water from lakes found in arid and semi-arid regions may enhance crystallization of salt leading to formation of minerals.
-Geological processes determine distribution e.g vulcanicity
-Deposition, accumulation and concentration of minerals over a long period of time.
-Presence of high pressure and temperature conditions to compact the raw materials and heat to form minerals.
							(3x1marks)
4. a) Differentiate between a national park and game reserve	2mks
-National park is an area set aside for the preservation of scenery, wildlife and historical sites managed by the national government and no land use is permitted while a Game reserve is an area set aside for preservation of wildlife managed by the local authorities and permits  land use.
							(1x2marks)
b) Give three significance of wildlife in Kenya				3mks
-Creates employment for people raising their living standards
-Tourist attractions which brings foreign exchange and revenue for the government.
-It has led to development of industries by providing raw materials
-It has led to development of transport and communication when good roads are built to make accessibility of the parks. 
							(3x1marks)
5. a) Differentiate between  land rehabilitation and reclamation 	2mks
-Land reclamation is the process of converting wasteland into farmland for agricultural activities while land rehabilitation is the process of restoring land to its former productive state.			(1x2marks)
b) Name three methods of land rehabilitation 				3mks
-Re-afforestation 
-Use of manure and fertilizer for soil to regain fertility
-Planting cover crops and mulching
-Controlling pests
-Practising intercropping and crop rotation		(3x1 marks)








SECTION B
6. Answer question 6 and any other questions from this section.
The table below shows crop production in ‘000’ tones for the years 2006-2008.use it to answer the questions that follow.

	Crop/year
	2006
	2007
	2008

	Coffee
	102
	93
	92

	Sugarcane
	153
	156
	82

	Tea
	354
	372
	182

	Oil palm
	327
	347
	138

	Totals
	946
	968
	497



a) Calculate the percentage increase in crop production between 2006 and 2007 								2mks
968-946=22	 
(22/946)x100%
=2.33%					
b) Draw a compound bar graph to represent crop production between 2006 to 2008. use a scale of 1cm to represent 100,000 tones										9mks
c) State 2 advantages of using the above method of data presentation									2mks
-They give clear visual impression
-They allow easy comparison
-They are easy to interpret/read
-They can be used to represent a wide range of data
							(2x1marks)
d) Give three physical requirements that favour the growth of oil palm in Nigeria								3mks
-Oil palm grows well on undulating land which is less exposed to winds.
-Low altitude of below 1000m above sea level
-Deep, well drained soils rich in humus
			(3x1marks)
e) i). Describe the stages involved in palm oil processing 		6mks
-Stripping from stalks and other wastes
-Sterilization to arrest acid development
-Cooking in digesters for softening
-Depulping to separate the pulp from the kernel
-Pressing to extract oil from pulp/crushing in grinders to remove oil from the kernel
-Two distinct oils (palm oil and palm kernel oil) are produced.
							(6x1marks)
ii). Apart from making oil , give three other uses of oil palm	3mks
-Leaves are used for roofing and thatching of houses
-Shells and fibres are used for fuel
-Stems are used as building posts
-Leaves and husks are used to make mattresses, baskets, mats and brooms.
-Oil residues are used as animal feeds and fertilizers.
							(3x1marks)
7.  (a).  (i)   W – Flouspar
        X – Gold
      Y – Diamond
     Z – Copper 
        (ii)  Problems facing gold mining in South Africa.
· Costs involved in mining gold have increased greatly.
· Due to increasing demand to provide higher wages, married quarters and other social amenities thus has led to additional cost in acquiring labor.
· A lot of water is needed for processing gold but ever increasing population in the Rand also needs, yet this area receives seasonal rainfall.
· Rand mines are becoming deeper. This has led to pressure bursts underground and ground shatters as the ore is removed. This is due to the great pressure from the heavy weight of overlying rocks.
· The gold grade being worked on now has a poorer quality than that of some years back.
· Exhaustion of minerals because gold is a non-renewable resource.
              (b). (i) Factors influencing exploitation of minerals
· Minerals have different values. Minerals of high value are often mined at a very high cost because of their high demand.
· Size of mineral deposit, where mineral deposit is small labor and cheap methods are employed.
· High grade and quality are more economical to exploit than lower grade ores because they yield large amount of metal.
· Minerals occurring near the surface are easily mined by open cast method, while those occurring deep below especially those mined by deep shaft are expensive.
· Mining involves large outlay of capital.
· When minerals occur, and there are transport systems then its cheap to exploit them.
· World fluctuation of prices affect expected incomes by exporting countries.
ii. Name four by-products extracted from crude oil 		(4mks)
           (ii)  -Tar
                  -Wax
                  -Bitumen/Pitch/Asphalt
                 -Grease/Lubricants
                 -Resin/Petrol chemicals
        (c) Negative effects of mining on the environment.
· Mining causes land destruction making it ugly or badlands.
· Causes pollution of environment, for instance, air, water, soil and even noise in areas around the mines.
· Has led to soil erosion since land remains bare and exposed to agents of erosion.
· Leads to loss of bio-diversity, animals migrate or die. Vegetation is cleared making some tree species to be extinct.
· May lead to landslides making area to be prone to other tectonic activities such as faulting, earthquakes or vulcanicity.
· May lower water-table of a given place hence making water availability to be scarce.
		
8.  a) (i) What is a polder							(2mks)
	Is land in the Netherlands that has been reclaimed from the sea and enclosed by dykes.
									
     (ii) Name two crops grown in the polders			(2mks)

-Rye	
- Tomatoes		- Flowers				
  - Barley		-Oat			- Fodder crops
 - Sugar beet	- Potatoes		- Wheat

b) Describe the stages of reclamation of land from the sea in the Netherlands								(7mks)
-  Protective dykes/sea walls are constructed enclosing the part of the sea to be reclaimed. 
             - Rings canals are constructed.
- Pumping stations are installed to pump out sea water from the area enclosed by the dyke.
- Water is pumped out of the area enclosed by the dyke
- Drainage ditches and more pumping stations are made on the land being reclaimed.
- Drainage pipes are laid below the soil.
- The area is divided into rectangular portions using. Inner dykes and ring canal.
- The drained land is flushed with fresh water to remove salt from the soil.
- Soils are treated with chemicals to remove salinity
- Pumping water from the polders is a continuous process to prevent water from accumulating in the reclaimed land.
	
    c) (i) State three physical factors that influence the establishment of Pekerra irrigation scheme						(3mks)
-Gentle slope of the area which allows mechanization and flow of water to the field by gravity.
-Presence of fertile loamy soils on which a variety of crops can be grown.
-Semi-arid conditions of the area which necessitated the use of irrigation as the only way to make food production possible.
-Extensive area of land that enable large scale cultivation of crops
-Constant supply of water for irrigation from river perkerra.

(ii) State three human problems experienced in irrigation farming in Kenya							(3mks)

-Disease incidences such as bilharzia and malaria transmitted by vectors in stagnant waters.
	-Payment of low prices to the farmers which kills morale of the farmers.
-High cost of production making the farmers to sell their produce at high costs
-Mismanagement of irrigation bodies leading to losses, lack of credit and low prices.
-Shortage of labour during planting, weeding and harvesting giving the farmers the burden of hiring labour at high cost.

d) Explain four significance of irrigation farming in Kenya												(8mks)
-Irrigation farming enables farmers to earn an income when they sell farm produce hence raising their living standards.
-Provision of employment opportunities which has alleviated poverty.
-Promoted industrial development through providing raw materials e.g rice mills.
-Has enhanced food security in the country by encouraging growing of food crops such as maize.
-Development of transport network e.g construction of new roads leading to the irrigation farm.																													
9. Study the map of the world below and use it to answer question
           [image: ]

  (a). (i).  Name the fishing grounds marked.  X,Y and Z                 (3marks)
	X- North-east pacific
	Y-North west atlantic
	Z-North west pacific
 (ii). State  three physical factors influencing fishing in the region marked X on the map. 									(3 marks)
-Numerous sea inlets which provides shelter for the spawning of fish and anchoring of fish boats.
-Warm Atlantic Drift current which raises the temperature making conditions favourable for planktons growth and making fishing possible throughout the year
-Large continental shelf providing an extensive area for planktons growth
-There is highly developed technology which allows fishing to go on throughout the year
-Dense and effluent population of west Europe which provides ready market for fish.
-Ruggedness of landscape by glaciated features which is unfourable for agricultural activities
  (b)   Describe how the long lining method is used in catching the fish.												(5marks)  
-This method is used to catch demersal fish
-Fishing boats spread out long lines with several baited hooks on them.
-Floats keep the lines suspended on the water surface and also show the fishermen where the lines are.
-Baited hooks catch the fish as they compete to feed.
Hooks are drawn and fish unhooked and put in a refrigerated containers.
  (c)    (i) Give five reasons why marine fishing is less developed in east africa											(5marks)
-Relatively warm waters of the tropics don’t favour breeding of large number of fish due to little planktons.
-Narrow continental shelf with little fish resourses
-Strong sea tides which are great menace to local fishermen who use small boats 
-Inadequate capital which causes fishermen unable to afford expensive equipments which brestricts them to fish near the shores.
-Inadequate market due to low purchasing power of the surrounding community which reduces fish consumption.
-There is low demand for sea fish
        (ii) Name three  traditional methods used to preserve fish in lake Turkana.										(3marks)
-Sun-drying
-Smoking
-Salting
 (d) Give three differences between fishing inKenya and japan	(6marks)
-In kenya fishing is mainly concentratyed in inland waters while in japan fishing is mostly concentrated in north west pacific fishing ground.
-Japan has more advanced technology than kenya that ensures heavy catch while kenya has limited technology leading to low catch.
-In japan marketing of fish is done mainly  by cooperatives while in kenya its mainly done by individual fishermen althogh there are few co-operatives.
-Less fish is caught in kenya due to warm watersand narrow continental shelf  while in japan there is plenty of fish in marine watetrs due to broad continental shelf and convergence of warm and cold current

10. a) What is eco-tourism?					(2mks)
-Refers to situations when tourists are directly involved in environmental conservation efforts.
-Tourism emphasizing environmental conservation where tourists and local communities are involved in enjoying nature as well as conserving it.
b) Give four tourist attraction along the Kenyan coast	(4mks)
-Marine parks.
-Warm sandy beaches
-Varied rich traditional cultures of the coastal people
-mangrove forest along the coast
-Numerous beach hotels
c) i).  Explain four factors that have made switzerland a major tourist destination in europe 					(8mks)
-Switzerland has favourable climate with warm sunny summers which allows swimming  and sunbathing while the cold winters allows winter sport
-The varied scenery consisting of snow caped mountains , cascading water falls and glaciated landscape  provides varied tourist attractions  which were lacking in other part of europe 
-The central position of Switzerland  within europe make the country more accessible from the other european countries.
-Switzerland has a well developed transport network to tourists sites  provides easy accessibility.
    ii). How does the kenyan government promoted domestic tourism 
										(3marks)
–By lowering entry fee to game parks
-By lowering charges in tourists hotels for kenyans who want to stay in them										
d. i). State four problems associated with tourism 		(4mks)
-Government neglecting other sectors of the economy like agriculture by spending much money on tourism industry.
-Some tourists encourage poaching  by buying and smuggling game pruducts.
-Destruction of vegetation 
-Local people borrowing from tourists some social cultural values with negative consequences.
  	 ii) Name any four of the big five animals in kenya	         (4mks)
	-Lion
-Leopard
-Elephant
-Buffalo
-Rhino
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